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(14) AmboI, Vºo$, ŷ{‘Vr - joÌ’$i, KZ’$i> Am{U n[a{‘Vr
1) Imbrb dVw©imboI d Vº$m ¶m§Mm H$miOrnyd©H$ Aä¶mg H$am Am{U {Xboë¶m àíZmMo CÎma Úm.

H$m‘Jmam§Mr EHy$U g§»¶m = 1500

H$moUË¶m {d^mJm‘Ü¶o gdm©V OmñV ór H$m‘Jmam§Mr g§»¶m Amho?
1) ‘m{hVr V§Ì{dkmZ 2) {dnUZ
3) boIm {d^mJ 4) {dVaU

1) Study the following pie-chart and table carefully and answer the question.

Total No. of employees = 1500.

Which department has the highest number of women employees ?

1) Information Technology (IT) 2) Marketing

3) Accounts 4) Distribution
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2) EH$m H§$nZrMm XmoZ dfmªMm IM© d Z’$m Imbrb OmoS> ñV§̂ mboImV {Xbm Amho. Va XmoZ dfm©Mm EHy$U Z’$m IMm©À¶m {H$Vr
Q> o̧$ hmoVm?

1) 25 2) 60.5 3) 40 4) 45.45
2) The expenditure and profit of the company in two years is shown in following diagram.

What is the percentage of total profit with expenditure in two years ?

1) 25 2) 60.5 3) 40 4) 45.45
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Imbrb {Xboë¶m ñV§̂ mboImV EH$m emioMr nmM dfm©Mr {dÚmWu g§»¶m Xe©{dbr Amho. {ZarjU H$ê$Z àíZ H«$‘m§H$ 3 d
4 gmoS>dm.

The bar graph given below shows the number of students of a school for five years. Solve question

number 3 and 4 by opservation.

3) e¡j{UH$ df© 2019-20 nojm e¡j{UH$ df© 2021-22 ‘Ü¶o ‘wbtÀ¶m g§»¶oMr {H$Vr Q>³³¶m§Zr dmT> qH$dm KQ> Pmbr?
1) 5% 2) 10% 3) 15% 4) 20%

3) What is the percent increase or decrease in the number of girls in the academic year 2021 — 22

as compared to the academic year 2019 — 20 ?

1) 5% 2) 10% 3) 15% 4) 20%

4) e¡j{UH$ df© 2020-21 d 2022-23 ‘Ü¶o ‘wbm§À¶m g§»¶oMo JwUmoÎma {H$Vr?
1) 5 … 6 2) 4 … 5 4) 3 … 4 4) 2 … 3

4) What is the ratio of the number of children in the academic year 2020 — 21 and 2022-237?

1) 5 : 6 2) 4 : 5 3) 3 : 4 4) 2 : 3

5) gmo~VÀ¶m d¥ÎmmboImV JmdmVrb O‘rZ (EH$amV) {d{dY àH$maÀ¶m AÞYmÝ¶ {nH$m§Imbr Agboë¶m bmJdS>rImbrb joÌ
Xe©{dVo. H$moUË¶m VrZ AÞYmÝ¶ {nH$m§Mo bmJdS>rImbrb joÌ EHy$U O{‘ZrÀ¶m 50% Amho?

1) ‘H$m, ~mOar, ‘mohar 2) Ádmar, ZmMUr, ~mOar 3) ^mV, Jhÿ, ‘H$m 4) ZmMUr, Jhÿ, ~mOar
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5) The pie chart shows the distribution of land (in acres) in a village under the cultivation of various

food crops. The combination of which three crops area under cultivation contributes 50% of the

total area ?

1) Maize, Millet, Rai 2) Jowar, Ragi, Millet

3) Rice, Wheat, Maize 4) Ragi, Wheat, Millet

6) Imbrb {MÌmboI 2023 À¶m n{hë¶m ghm ‘{hÝ¶mV emioV ¶oUmè¶m ‘wbm§Mr g§»¶m Xe©{dVmo. H$moUË¶m ‘{hÝ¶mV ‘wbm§Mr
g§»¶m AmYrÀ¶m ‘{hÝ¶mnojm gJù¶mV OmñV Q>³³¶m§Zr dmT>Vo?

1) OmZodmar 2) ‘mM© 3) E{àb 4) OyZ
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6) The chart represents the number of children attending school in the first half of 2023. Which

month represents the greatest percent increase of children attending school over the previous

month ?

1) January 2) March 3) April 4) June

7) gmo~VMr Jm{cÀ¶mMr AmH¥$Vr Aä¶mgm. Vr COì¶m d S>mì¶m ~mOycm Agcoco XmoZ H$mio nÅ>o ‘Ü¶o nm§T>am Mm¡ag, Am{U
H§o$ÐñWmZr Agcoco nmZ ¶m§Mr ~Zcocr Amho. nm§T>è¶m  Mm¡agmMr é§Xr H$mù¶m nQ²>Q>çmÀ¶m é§XrÀ¶m XþßnQ> ‘moR>r Amho. nmZmZo
‘Yë¶m Mm¡agmMm nmd ^mJ ì¶mncocm Amho.

Jm{cÀ¶mÀ¶m g§X^m©V H$mù¶m joÌmMo nm§T>è¶m joÌmer Agcoco JwUmoÎma {ZdS>m.
1) 2 : 1 2) 3 : 5 3) 5 : 3 4) 5 : 4

7) Study accompanying diagram of carpet. It is consists of two black strips on the left and the right,

a white square in the middle, and a leaf in the centre. The width of the white square is twice as

large as the width of a black strip. The leaf occupies a quarter of the square in the middle.

Select the ratio of black to white area with respect to carpet.

1) 2 : 1 2) 3 : 5 3) 5 : 3 4) 5 : 4
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8) h°nr XoemVrc ghm joÌm§n¡H$s àË¶oH$ joÌ, àË¶oH$ ì¶º$sÀ¶m EHy$U dm{f©H$ CËnÞmda ñdV:Mm Am¶H$a Xa cmJy H$aVo.
nwT>rc gmaUr ghm {^Þ ì¶º$s¨À¶m Am¶H$amMr ‘m{hVr XmIdVo.

EH$m dfm©V {VW©BVH$sM Am¶H$a a¸$‘ XoUmè¶m ì¶º$sMo Zmd Xe©dUmam n¶m©¶ {ZdS>m.
1) ZrZm 2) {XZy 3) a‘U 4) {dë‘m

8) Each of the six regions in the country of Happy sets its own income tax rate which applies to the

total annual income of an individual.

Select the option that indicates the person who pays the same amount of income tax in a year as

Tirth.

1) Nina 2) Dinu 3) Raman 4) Wilma

9) OZm gm¶H$cZo H$m‘mcm OmVo. {VÀ¶m ‘mJm©Mm n{hcm EH$ MVwWmªe Q>ßnm MT>UrMm AgyZ, Cacocm gJim ‘mimdaMm
Amho. MT>Urda VgoM ‘mimda Vr pñWV JVr amIyZ AgVo na§Vy MT>Urnojm {VMr ‘mimdaVr JVr XþßnQ> AgVo. OZmÀ¶m
¶m àdmgmMo CÎm‘ à{VénU H$aUmam EH$ AmcoI nwT>rc n¶mª¶m§VyZ {ZdS>m.

1) 2) 3) 4) 
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9) Jana goes to work by cycle. The first quarter or her rout is uphill. them the rest is flat. She

maintains a constant speed, both uphill and on the flat, but her speed on the flat is twice her speed

uphill. Select one of the following graphs that best represents Jana's journey to work.

1) 2) 3) 4) 

AmboI, Vºo$, ŷ{‘Vr

10) VrZ g§Ü¶mH$miÀ¶m ZmQ>ç ‘hmoËgdmÀ¶m Img d gmYmaU {V{H$Q>m§À¶m EHy$U {dH«$sMm ñV§̂  Vº$m Aä¶mgm. Img {V{H$Q>o
gmYmaU {V{H$Q>m§nojm A{YH$ {H$‘Vr AgVmV.

{Xboë¶m n¶m©¶m§VyZ ¶mo½¶ {dYmZ {ZdS>m.
1) EHy$U {dH«$sVyZ ewH«$dma qH$dm e{Zdmar gdm©{YH$ CËnÞ {‘imbo Agmdo.
2) EHy$U {dH«$sVyZ e{Zdmar qH$dm a{ddmar gdm©{YH$ CËnÞ {‘imbo Agmdo.
3) EHy$U {dH«$sVyZ ewH«$dmar gdm©{YH$ CËnÞ {‘imbo hmoVo.
4) EHy$U {dH«$sVyZ ewH«$dma qH$dm a{ddmar gdm©{YH$ CËnÞ {‘imbo Agmdo.

10) Study the bar chart showing the total numbers of premium and standard tickets sold for a drama

festival over three evenings. Premium tickets are more expensive than standard tickets.

Select the one correct statement from given options.

1) The highest total sales income could have been for Friday or Saturday

2) The highest total sales income could have been for Saturday or Sunday

3) The highest total sales income was for Friday

4) The highest total sales income could have been for Friday or Sunday
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11) J§‘V-O§‘V ¶m gyÌCÚmZmbm ôQ> XoÊ¶mgmR>r XmoZ àH$maMr {V{H$Q>o CnbãY AmhoV.
1-{XdgmMo {VH$sQ> - ’$º$ IaoXrÀ¶m d¡Y
3-{XdgmMo {VH$sQ> - IaoXrÀ¶m {Xdgm~amo~a nwT>À¶m ’$º$ XmoZ {Xdgm§gmR>r d¡Y
Joë¶m AmR>dS>çmV {Xë¶m Joboë¶m {V{H$Q>m§Mr Zm|X

Joë¶m AmR>dS>çmV Jwédmar gd© {‘iyZ d¡Y Agboë¶m {V{H$Q>m§Mr g§»¶m {ZdS>m.
1) 1476 2) 1657 3) 1784 4) 1974

11) Visitors to the theme park Gammat-Jammat have two types of ticket available to them, as follows.

1-day ticket — This is valid on the day of issue only.

3-days ticket — This is valid on the day of issue and the next two days only.

This is a record of the tickets issued last week.

Select the number of tickets altogether that were valid for use on Thursday last week :

1) 1476 2) 1657 3) 1784 4) 1974

12) a§JmZwgma dmQ>mÊ¶mMr ~rO A§Hw$aU Q> o̧$dmar ~XbVo. Ooìhm H$Yr {d{eï> a§JmgmR>r {~Oo noabr OmVmV Voìhm Ë¶mVrb {H$Vr
Q> o̧$ A§Hw$aVrb ¶mMr ImÌr AgVo. hr Q> o̧$dmar gmo~VÀ¶m gmaUrV {Xbr Amho. àXe©ZmgmR>r àË¶oH$ a§JmMr nÞmg amono
hdr AmhoV.

bmJdS>rgmR>r bmJUmè¶m {~¶m§Mr EHy$U g§»¶m {ZdS>m.
1) 350 2) 375 3) 500 4) 700

12) Germination rates of pea seeds vary by colour. Whenever seeds for particular colours are sowed,

one can be sure that a certain percentage will germinate. These percentages are given in below

table. Fifty plants of each colour are required for a display.

Select the number of seeds in total need to be planted.

1) 350 2) 375 3) 500 4) 1700
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13) Imbrb AmH¥$VrV ABCD hm Mm¡ag dVw©imV H$moabm Amho. dVw©imMm n[af 2π  Amho. aoIm§{H$V ̂ mJmMo joÌ’$i {H$Vr
Amho?

1) 2x 2) πx - 2x 3) πx - 2 4) 1 -  2 .
             π

13) In the diagram below ABCD is a square inscribed in a circle with circumference 2πππππ . What is

the area of the shaded region in the diagram ?

1) 2x 2) πx - 2x 3) πx - 2 4) 1 -  2 .

         π

14) OmoS>ñV§̂ mboImV amhþb, {Z{H$Vm d {dH$mgZo MmMUr ‘m{bHo$V JwU Xe©{dbo AmhoV.

Imbrb H$moUVo {dYmZ ~amo~a Amho?
1) MmMUr ‘m{bHo$V {Z{H$VmZo amhþb d {dH$mgnojm OmñV JwU {‘i{dbo.
2) MmMUr ‘m{bHo$V {dH$mgZo amhþb d {Z{H$Vmnojm H$‘r JwU {‘i{dbo.
3) MmMUr ‘m{bHo$V {Z{H$Vm d amhþbZo {dH$mgnojm OmñV JwU {‘i{dbo.
4) MmMUr ‘m{bHo$V {Z{H$Vm d amhþb ¶m XmoKm§Zrhr {dH$mgnojm H$‘r JwU {‘i{dbo.
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14) The bar graph shows the marks obtained by Rahul, Nikita and Vikas in test series.

Which of the following statement is correct ?

1) Nikita scored more marks than Rahul and Vikas in overall test series.

2) Vikas scored less marks than Nikita and Rahul in overall test series.

3) Nikita and Rahul scored more marks than Vikas in the test series.

4) Nikita and Rahul both scored less marks than Vikas in overall test series.

15) gmo~VÀ¶m [hñQ>moJ«m‘ ‘Ü¶o EH$m {d[eï> eoAaMr eoAa ~mOmamV ~§X qH$‘VrMr dma§dmaVm {Xbr Amho. {Xboë¶m {hñQ>moJ«m‘
dê$Z 80 ngo}ZQ>mB©b H$moUË¶m dJm©V Amho?

1) 20 - 30 2) 10 - 20 3) 40 - 50 4) 30 - 40
15) The following is a histogram showing the actual frequency of the closing prices on the stock

exchangeof a particular stock. From the histogram, the class containing the 80h percentile is :

1) 20 - 30 2) 10 - 20 3) 40 - 50 4) 30 - 40
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16) B‘maV ~m§YVmZm {d{dY ~m~tdarb IM© XmIdUmam d¥ÎmmboI {Xbobm Amho. B‘maV ~m§YUrMm EHy$U IM© é. 5,40,000
Amho. Ë¶mdê$Z bmoI§S>mgmR>r Pmbobm IM© {H$Vr?

1) é. 67,500 2) é. 72,000 3) é. 65,000 4) é. 70,000
16) Following Pie diagram shows expenditure on various items while constructing a building. The

total expenditure of building construction is Rs. 5,40,000. What is expenditure on steel ?

1) Rs. 67,500 2) Rs. 72,000 3) Rs. 65,000 4) Rs. 70,000

17) AmboImMo H$miOrnyd©H$ narjU H$ê$Z, Imbrb àíZm§Mr CÎmao Úm.
a) H$moUË¶m dfu CÎmrU© Pmboë¶m Am{U AZwÎmrU© Pmboë¶m {dÚmÏ¶mªÀ¶m g§»¶oV gdm©V H$‘r ’$aH$ Amho?
b) Joë¶m nmM dfm©V, emioV AZwÎmrU© Pmboë¶m {dÚmÏ¶mªMr gamgar g§»¶m {H$Vr hmoVr?
c) g‘mZ g§»¶o‘Ü¶o {dÚmWu {H$Vr doim Zmnmg Pmbobr AmhoV?

n¶m©¶r CÎmao …
1) 2015-16, 90, Mma 2) 2016-17, 70, nmM
3) 2017-18, 90, nmM 4) 2015-16, 90, VrZ
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17) Examine the graph carefully, answer the following questions.

a) Which year has the smallest difference between the number of students who passed and those

who failed ?

b) In the last five years, what was the average number of students who failed in school.

c) How many times have the same number of students failed ?

Answer options :

1) 2015-16, 90, Four 2) 2016-17, 70, Five

3) 2017-18, 90, Five 4) 2015-16, 90, Three

CÎmao : (14) AmboI, Vºo$, ŷ{‘Vr - joÌ’$i, KZ’$i> Am{U n[a{‘Vr

1-2 2-4 3-2 4-4 5-1 6-2 7-3 8-2 9-4 10-2
11-3 12-2 13-2 14-4 15-4 16-1 17-1


